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sin(a + B) = sina X cos B + cos a X sin 8
sin(a — f) =sina X cos B — cos a X sin f3
cos(a + ) = cosa X cos B —sina X sin f3

cos(a — ) =cosa Xcos B +sina Xsinf
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sinYa = sin(a + a) = sin a cosa + cos a sin a = Ysin a cosa
cosYa = cos(a + a) = cos a cos a + sina sina = cos'a — sin"a
cosYa =Ycos"'a —\

cosYa =\—VYsin'a
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v \+cosYa

cos'q = ——m
Y

v \—cosYa
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cota — tana = YcotY«a
Y
cota + tan a = —
sinY«a
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cosa sina cos'a—sinfa cosYa
cota — tana = — = = = Ycot Ya

sina cosa sina cos a ) cinva
Y
cosa sina cos'a+sin'a \ Y
cota + tana = — + = : =\ = — v
sina cosa sin a cos a ?sin vg Sinva
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